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Instructions :

1. The question paper is divided in five units. Each unit carries an internal
choice.

2. Attempt one question from each unit. Thus attempt five questions in all.

3. All questions carry equal marks.

4, Assume suitable data wherever necessary.

5. English version should be deemed to be correct in case of any anomaly in
translation.

6. Candidate should write his/her Roll Number at the prescribed space on the

question paper.
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&g I/(Unit )
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What is operating system ? Explain Multiprogramming and time sharing

system.
YA/ (Or)
= — Ay feooft fafes
Write short notes on the following :
(@) System calls
b) Components of operating system.
gehl3 II/(Unit II)
= § o T FiE
Differentiate between the following :
(a) Preemptive and Non-preemptive Scheduling;
b) Long-term, Medium-term and Short-term Scheduling.
(c) Throughput, Turnaround time and Waiting time.
YA/ (Or)
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What is the need of process scheduling ? Explain CPU Scheduling Algorithms

with example.

Zhe III/(Unit III)
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Explain the concept of semaphores. Provide the solution for Reader-Writer

problem.
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YA/ (Or)
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Consider the following scenario of a system :

Process Allocation Max Availble
A B C D A B C D A B C D

P, 0 0 1 2 0O 0 1 2 1 5 2 0

P, 1 0 0 0 1 7 5 0

P, 1 3 5 4 2 3 5 6

P, 0O 6 3 2 0O 6 5 2

P, 0 0 1 4 0O 6 5 6

Jhd TReR &1 e ¥ = geEl & S
Answer the following questions using Banker’s Algorithm :
(@) BfcF need =T ARt T BN ?
What will be contents of matrix need ?
(c) Safe sequence i TS |
Draw the safe sequence.
d P, ¥<0,4,2 0> T fFa, & w0 39 FVY H A TE ST HRA § 2

If the request from P1 is < 0, 4, 2, 0 >, can the request be granted

immediately ?
e IV/(Unit IV)
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What is Segmentation ? How is it different from Paging ? Consider the given

segment table :

3 P.T.O.
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Segment Base Length

0 219 600
1 230 014
2 90 100
3 1327 580
4 1952 96

frefafen @ifsea 9 & ol #H-9 fhsied @8 B 2 9uH Sifed |
What are the physical address for the following logical address ? Explain.

(@ 0, 430
®) 3, 400
© 1,10
d) 4, 112
e) 2, 500

3741/ (Or)
1w wam 9 feooft fafed .
Write short notes on the following :
(a) Page Replacement;
b) Paging Memory Management technique.
Fh1E V/(Unit V)
fewF scheduling 1 § ? 39! =l IR THNREA &1 IuH HifQ|
What is disk scheduling ? Explain any four algorithms of disk scheduling.
3741/ (Or)
TEA STHYRO, TEEE WFeR qdl WeRM H1 duF Hifed |

Explain file concepts, directory structure and protection.



